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src 2 otdr d iqr-Amqr otrffif,rvr o1 Drqrhfu frRrtr
Give the mechanism of Bayer-Villigey's oxidation of ketones.

OR
yd-a qq+q o1 D;qrEft ftMr
Write the mechanism of AIdol condensation.

v*i 3. ftq srftfrqr d Tof fim:
Complete the following reactions:

l\ RCOOAS+Br, -!\
2NH._C _NH I

Lt - , , JjO"C---"
o

3) (CATCO),O+ rCl,--+
OR

cfr"TqT{s d sq-qq{ ryFr of erars}r
Explain the amphoteric nature of acetamide.

cwT 4. q++ qlFro d Bfrq wnqq or quf{ otm t

Describe the stereochemistry of amino compounds.

OR

trqr dar t qq :

(1) gf{d-{ o} 200"c q{ $r;r H2so4d srq qd fu-qr oror t
(2) iltr{ d qfiq frfl{rc it Cffi{ fu qlfi t r

What happen when :

(l) Aniline is heated with conc H2so4 at 200'C.
(2) Aniline isadded to aqueous solution of bromine.

yrc s +m qdiqiTrs *irdq"r el-fl{ir
Explain Menifi eld Polypeptide sl.nthesis.

OR

fi&{ e1 Efrq-n riw-rT o1 ftiary 66tr,
Discuss secondary structure of protein.
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Note : Section 'A', containing l0 very short-answer-type questions, is compulsory
Section 'B' consists of short-answer-type questions and Section 'C,
consists oflong-answer-type questions. Section ,A' has to be solved first.

Section - 'A'
ffiF6d orfd-d{f,ff sr+ d \firt \rrF qr q} snq} { d r

Answerthe followingvcry short-answer-type questions in one ortwo
sentcnces. (lx8=10)

srt r ffifuo Hftopr oi f,"i o1ftrt:
Complete the following reactions :

OH
I

@+Zn !>
gsq 2. sflftfrfi 3rEI rl-{ dFI or +rrT gqre qsor t?

What is the effect ofheat on succinic acid?
cs;r 3. T{tt t]-or B) q-e dfuiqq Frfe on'q dfuqq cRde d ft8r"r d Td

o-rd tt sftfuqr ft@r
What happens when a mixture ofcalcium lormate and calcium acetate is
heated. Write the reaction.

---x---
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cs=T 4. tdts{ cFd1erft oEtfufuo 3rR 3IcfrraTrfr 3T6i qn gd{r i !-{d
Grdq sqt d't B?

Why halogen substituted carboxylic acid is more acidic than unsubstituted

acid?
qsr 5 orfift{ gftfrqT ftfuit

Write Carbylamine reaction.

c{r 6. cl{{td +1 3ryrfr vir+qTrl ftmt
Write the resonating structures of Pyrole.

q{{ 7 gffi-fu-{.R 3lqqtrro erft'otro qqr t?
What is Woll-Kishner reducing agent?

q{{ B. \'frq ol effiolq nqfr t{q-sl{n t

Explain basic nature of amines.

Section - 'B'
ftqifoa dg strftq ss-d + Brr{ tso-2oo rr< fi{r { t
Answer the foltowing short-answer-type questions with word

limit 150-200

cr{ 1. ffi$i-d w ormifufi e+q o1 orft.B-q ftfof t

Write the reaction ofoxalic acid with glycerol'

OR

(2x5=10)

qErff{ 3iTw{r{s ol srw cs err sdftd fr'<r{ o) nqgr{}l
Explain acid and base catalyzed cleavage of Ethylene oxide.

crq 2. ordftd {\mi n a&ffinfufufi q}lnffitr 3{ftfrqT d sqrflq
EG-d nq-sl{nt
Explain nucleophilic addition reaction in carbonylcompounds with example.

OR

crtr-{ GrftfuqT rqr t? flr-o1 fitqrfuft qrflr{}l
What is Perkins reaction? Explain its mechanism.

srr 3. irrlr drm t qq ({rff'fi-{vr fufu}) ,

(1) {Rqr ft1 fuqr cTwfl 3ffi t d-fr Bt

A) tfuo qrqngs or 3TiRffi "61 31qve<l

(3)

What happens when (Write chemical reaction) :

(l) Urea reacts with nitrous acid.

(2) Methyl cyanide is partially hydrolyzed
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OR

(fud gRraz d srra sdR-o tTdI 3TqEr&I o\ sq-sr{i t

Explain acid catalyzed hydrolysis of ethyl acetate.

s$T 4. grq;T 3rftfrq o) I]rsrsi t

Explain Coupl ing reaction.

OR

tBq-d-a)dqt{s orft.fu-qT fufui I

Write Gabriel's-Pthalimide reaction.

yy{ 5. i-gd oq €qaqfrfu atn frsrq t frft-q \{d offil oi fo-q roTt
qQro oti?
How would you separate different amino acids from a mixture by

electrophoresis?

OR

tm dot B qq:
(i) oilE{ffi{ oT {giPTq dr-dl tt
(z) ffi< R!fl sfr{fuo srq t fr-+r 6{f,r tl
What happens when :

( I ) Isoquinoline undergoes nitration.

(2) Quinoline reacts with fuming sulphuric acid.

Section - 'C'
ffifu-d Ad B-f,fu crit A BrR 3oo-350 Yr< ffqr q t
Answer the following long-answer-type questions with word

timit 300-350
q{{ 1 r-dt{oT-d A Ftffrfiwr e1 3TftfrqT crglglt

Explain dehydration reaction of glycol.

OR

Fli'{ gqr{ qq ftsofi ftffi1
Write note on Crown Ether.

(3x5=ls)

(2)

P.T.O.


